
Time: 10 Minutes Paper Math 4 Total Marks: 10

4th  Month, 1st Week, 5th Day Syllabus: Unit 4: Exercise − No. 2 Q No. 2

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. When we convert 1.3 into fraction we get:

ÃÃÃÃŸŸŸŸÅÅÅÅ̂̂̂̂~~~~$$$$++++BBBBÂÂÂÂqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì:::: 1.3 ZZZZ####ëëëë

(a) (b) (c) (d) None Ãð7

ii. 2.04 = __________.

(a) (b) (c) (d)

iii. When we convert 6.98 into fraction, we get:

ÃÃÃÃŸŸŸŸ~~~~$$$$++++BBBBÂÂÂÂqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì:::: 6.98 ZZZZ####ëëëë

(a) (b) (c) (d) None Ãð7

iv. 5.5 = _____________.

(a) (b) (c) (d)

v. By converting 0.68 into fraction, we get:

ÃÃÃÃŸŸŸŸÅÅÅÅ̂̂̂̂~~~~$$$$++++%%%%ÐÐÐÐqqqqÝÝÝÝƒƒƒƒ@@@@****ìììì:::: 0.68

(a) (b) (c) (d)

Q.No.1. Convert the following decimal into fraction and write in lowest form:

(5) ŠŠŠŠgggg̀`̀̀ffffssssZZZZ((((ggggttttÃÃÃÃŸŸŸŸ¬¬¬¬xxxx~~~~$$$$++++BBBBZZZZzzzzgggg����ZZZZ[[[[‚‚‚‚ŠŠŠŠ{{{{FFFF,,,,++++̂̂̂̂~~~~KKKKXXXX  ::::1 ÎÎÎÎZZZZwwww����

(i)     21.72            (ii)    0.98

______________________________________________________________

______________________________________________________________

______________________________________________________________
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